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MATHEMATICS

Time ;- 3 hours

Maximum Muarks @ 80

80 muarks. All questions ar compulsory.
[i. Section-A - Q. No. 1 to Q. 20 comprises of 20 questions of one mark each.

[II. Section-B - Q. No. 21 to Q. 26 comprises of 6 questions of two marks each.
1V.  Secction-C - Q. No. 27 to Q. 34 comprises of 8 questions of three marks each.
V.  Section-D - Q. No. 35 to Q. 40 comprises of 6 questions for four marks each.

questions of one marks, 2 questions for two marks, 2 question
questions of four marks. Student has to attempt only one of th
Section-A-().No. | to Q.20 comprises of 20 questions of on

each.

I.  This question paper comprises of four sections A, B, C and D and carries 40 questions of

ge marks and 4

VI. There is no overall choice in the questions paper. However, choice hagien provided in 2
ice in such questions.

SECTION - A

(20QX1M=20M6@\

Q.1. The number | ._.\/5 18:
(a) an even number irrational number

(¢) odd number 6&)::3 rational number

Q.2. Graph of a polynonual is given below:

N
P3 X'
: 1Y’ ;
| (a) 1 (b) 2 (c) 3 (d) 4
- Q.3. The pair of linear equations 2x—y+9 = 0 and 6x-3y+10= 0 are:
(a) paralle (b) intersecting (c) coincident (d) none
Q4. 30thterm of the AP=10,7,4, ... 18
(a) 97 (b) 77 (c) -77 (d) -87
Q.5. sin?(25°) + cos?(25°) is equal to
(a) sin (30°) (b) sin (90°) (c) cos (90°) (d) sin (0°)

- Q.6. The abscissa of any point of y-axis is

(a) 0 (b) 2 (c) -1 (d) none

'Q.7. HCF (0,2) s

(a) O (b) 2 ' (c) not possible to find (d) none




!
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22 ; W
o era 19 an example 0 '
. Getting a natural number greater {han zero 1$ an examp .
Q.8. clung ¢ et (c) simple event (d) none
(a) impossible event (b) surc €V O and radin
Q.. Three times volume of right circular cone of given height () US 715 equal 1o,
9. wee ‘ ARl
(a) twice volume of cylinder of height i and radius /
(b) volume of cylinder of height h and radius 7 ’
(¢) half of volume of cylinder of height & and radius 7
(d) none _
Q.10. Which of the following is quadratic equation
@ 2 k=0 (b) (—1)? = (-2)°
(©) (x-1)(x-2) = x*+2 (dx*+2=5 &
Q.11. Prime factorization of 1001 is 7.11.13. (True/False) 0
Q.12. The sum of first n natural number 1S e v\
l 1
QB3GR (A) = 5 then P (not A) = E 0\ (
Q.14. All ............. triangles are similar,
Q.15. A circle can have ............ paral ents at the most.
Q.16. Write formula for sum to n ter& AP . ;
Q.17. ~2x+./3y =4isan exa@:f linear equation in two variables. (True/False) S
Q.18. sin (30°) + cos (60°) ﬁ@al to tan (45°). (True/False) C
Or
If sin A= cos A is acute angle, then angle A is ................ : _
Q.19. Calculate 1 irst 10 natural numbers. ' S
0Q.20. Write th 1la for Mean of Grouped data.
Or Q
M observations 4,2, 9,2, 1,3, 2,5, 28 corvveonnins S
***********************=l=****************t********************************#*tt*ﬂﬂ
. Q
Q.1.  The common difference of an A.P. -3, 1, 3, I8 o S
WS (B) -4 (©) 2 (D) None of these
Q128 fokis: Q
5 52 l?mmna] : (B) lfrati"“a[ (C) Even (D) None of these Sc
Q.3.  The zero of a linear polynomial ax + b is: Q
b a .
AR My e b
& 8 [B) b © T (D) None of these Ra
Q.4

Sum of the roots of'the quadratic equation 3x2 N2 e

N et 3 s

(D) None of these
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Q.5. A linc intersceting a circle in two points is called a:
(A) Tangent (B} Chord (C) Secant (D) Nonce of these

0.6, Length of an arc of a sector is given by:

b

oo X 2mr i g3 < 7T C O X2xk
(A) 360° (B) 360° (C) T (D) None of these
Q.7. the midpoint of the line segment joining the points (2, 3) and (-4, 7) is:
(A) (=1,3) (B) (3, 5) (©) (5, -1) (D) None of these
Q.8. The probability of getting a number less than 4 in a single throw of a die is:
2 3 il :
(A) 3 (B) 7 (C) > (D) Nc%of these

Q.9. The value of cos 72° — sin 18° is: && :
(A) -1 (B) 0 (€)1 \QNone of these

Q.10. The graph of the equation X = 2 1s:

(A) A line parallel to x-axis (B) Aline p to y-axis

(C) y-axis (D) No ttlese

Q.11 Define Collinear Points.

- Sol.  Three or more points are said to be colline r&y lic on a single line.
Q.12  Write a formula for finding the area oéc with Coordinates of the Vertices as A(x,, v ),

B (x,, v,), €(x,, 1)- . &
| | \
Sol. Area= > | X, 0, = ¥5) T %, O +x, (v, — ) |
;_Q.13 Write One application o nometry.

;Sol. Trigonoinetry can e to roof a house, to make the roof inclined and the height of the roof

in building.

;';-Q.ld State Pythagoras theorem?
Sol. In aright angled triangle, the square of the hypotenuse is equal to the sum of squares of the other

| two sides.

Q.I5 If P(E) = 0.5, find (not Es)?

Sol. P(notE) = 1-P (E)=1-0.5=0.5

Q.16 Given r = 1 unit, find the volume of sphere?

Soll V. = ‘5”!W3 ro=1
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line segment
he point P (x, ) which divide the gment joining the D
he co-ordinates of the |
(.17 Write the &€ lly in the ratio of m:m,.
y) and B (x,, y,) intermatly : ,
my X, + 17 Xy i M
L e : Fo—
Ans, X= T ¥ my + M, :
; o oints (x,, ¥,) and (X, ¥)) 18 oo (Fillin the
Q.18 The mid-point of line segment joining the p it " e,
ntx N
Ans. .‘c:*_z'_',yx D
_ “Angle of elevation.”
Q.19 Define the term _ :
. the h l@al.
Ans. When an observer views the top of the object from K
Q.20 State Pythagoras theorem. :
. to the s f
Ans. Inarightangled triangle, the square of the hypoten aue SUM OL Squares of the oy
two sides.
* If P(A) = .7, find P (not A). \
Ans. 0.3 {P(notA) = 1-P(A)}
* [f R denotes radius of a sphere wra rmula for volume of sphere.
4 %
Ans. V= 3 aR> &
* Write the formuiae for che area of a tnangle A (x,, 7)), B (x,, »)) and C(x,, yz) .
l
Ans. Area= ; & +%, (13 =)+ (0 }’2){ 5
) State Se% rmula.
Ans. The ate of point P(x, y) which divide the line segment joining the points A(x, y Ja
1memally in the ratio m: m, are 3
( M Xy + Ny X) myy, +myy, g = ‘
mtm,  m +m, This is known as section-formula. 2
A Define the term “Angle of depression”.
Ans.  The angle formed by the line of sight and the horizontal plane for an object below the horz®
& Give two different examples of pair of “Similar figures”
Ans. 1. Paurs of Equilateral Triangles.
2. Pairs of Square.
“ If P(A) = .3, find P (not A).
Ans. P(not A) =10.7
* It denotes radius of base of cone and k denotes height of cone and / denotes slant height®
l=. .. (Fill in the blank)
Ans,

ey



NARENDERA « DAWN Guess Paper 2024 (Class 10th) 25

. The distance between P(x,, Y1) and Q(x,, ¥,) 18 siviiiueean, (Fill in the blank)

Ans. PQ = \/(_1-2 — X )" AN (J’g - )2

* Write the formula for find the area of a triangle whose vertices are P(x 0 Y Q (x,, ¥,) and R
(X35 V3)-

]
Ans. E f.l‘, (,}’3 — ,V3)+ X5 (}‘3 "‘Jf'z)‘*‘ A3 (}"} S )!

* Write one application of Trigonometry.
Ans. Trigonometry can be used to measure the height of a building or Mountains.

1
| * The common difference of an A.P. 3 3o 30 g e is: 4 6
4

3
(A)g (B) 4 (C) 2 \@&!one of these

it 4 1s: ?
b (A) A prime number (B) A ration%m er

(C) An irrational number (D) None@ese
B The zeroes of the quadratic polynomial x* —1 aree.

(A) 2, 1 (B) 1, 1 (CAN
O

B How many tangents can a circle have? a

(D) None of these

(A) 1 , (B) 2 C) Infinitely many (D) None of these
. ' @ .
g Product of the roots of the quadr énation 5% —6x2~2 =0 is:
E' P é 6
; (A) 'g | (B (C) 3‘ (D) None of these
- Circumference of c@ls given by:
| (A) 2mr (B) -2nr (C) mr (D) None of these
R The midpoint of the line segment joining the points (x, yJand (x,, ) is:
A S ){. =29 ek ’ ntx yty,
(A)[ SeL s ] ‘B)( SRR ]
xl xz y}J{? 5
(©) o ’“_2 (D) None of these

Which of the following cannot be the probability of an event:
5 .
(A) 3 (B) 0.7 (C) -L.5 (D) None of these

sin (90 — 0) is equal to:
I (A)cos (B) —cos B (C)sin0 (D) None of these
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26 / (C{O-‘.Y jﬁ_.
s 4byte =0andax tby+c = . :
x 1€ the lines represented by the equations @ X ¥ 219 7% E YT =0are Miergee,. i
then: g Q
b d b & b' ES G (D
a. el | o T ) None
{A) '(;L T :;)-L (B) a, b: ( g [}2 % i [hf:se S¢
5 9 l Q.
. » — S5
* The common diflerence of an A.P. 2, 2’ 3, " 7
So
1 o = (D) N 2
(A)2 ®) =5 © 5 one of these
& 5 1s: &9 So
(A) An even number (B) A prime b 2
(C) A composite number (D) Nope se s
]
. 2-x}is: ro
(A) A linear polynomial uadratic polynomial E
(C) A cubic polynomial ) None of these
Sum of the roots of the quadratic e \én ax? + bx+c¢c=0,ax01s: e
ol.
b . : C : _
(A) 7 (B)é& (©) g (D) None of these Q.6
A line which touche cle at one point is called: Sol.
(A) Tangent ) Secant (C) Chord (D) None of these Q.7
Area of the \s given by:
5 % Sol.
2 7 52 360° ) g
(A) 1‘& (B) e (@) TR zr (D) None of these 28
ThgdiStance of the point A(x, y) from the origin O(0, 0) is: Sol.
o B9
(A)x =y (B) {x* +y* (C) Jx+y (D) None of these
The probability of getting a number less than 7 in a single throw of a die is: §ol.
ol 6 .10
( ()0 ©) 7 (D) None of these
t (4]
The value of 206 is:
cot25°
A) 1 o ol.
El“h) : _(B) .l ©0 (D) None of these
e solution of the pair of linear equations x + 2y =3 and x + y=3is: L11.
(A)x=0,y=3 : . = :
) & (B)x==3,y=0 (COx=3,y=0 (D) None of these ns.

3 58K R R ROK 7 ok K ; i
RAKE R R A K *********#**********#**#************************“‘w
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Q.. The HCF of 2 and 11 1s
(a) 2 (b) L1 (c) 22 (d) 1

Sol. (d) |
Q.2. A polynomial of degree ‘2" is called
(a) Quadratic poly (b) Zero poly (c) Quartic poly (d) None of these

Sol. (a) Quadratic poly
Q.3. A Quadratic Equation ax? + bx + ¢ = 0, a #0 has two equal roots if:

(a)D>0 (b)y D=0 (c)D <0 (d) N.O.T
Sol. (b)D=0
Q.4. The common difference of the AP 6, 9, 12, 15 ........ is:

(a) 6 (b) -3 (c) 9 (d) 3&6
Sol. (d)3 &

Q.5. The distance of the point A(x, y) from the origin 0(0, 0} is \0
(a)/x? + ? (b) \/x%-p? (c) ¥* \ (d) y’

é.-SOl. (a) _\‘2 + y2 00

QG A line which touches a circle at one point is cal
: (a) Secant (b) Chord : ent (d) N.O.T

Sol. (c) tangent

Q? Area of circle 1s given by: & &

; (a) )21 SN¥ (©) 7 (d) N.O.T
Sel. (¢) n#

QS Which of the following canv the probability of an event:

- e - (c) 15% (d) 0.7
Sol.  (b)-1.5
2.9. The value of sin 13g¥72 is:

I - (b) 0 (©) 1 @ 3
sol.  (c) 1
;) 10. The mean of the grouped data can be found by direct method as:
" 1 X Jixi i
). b oo oA ;
Oy ©lgg O G

ol (d) Zf—;—

.11. The H.C.F of 5, 15 is:
s (A)S (B) 15 (C) 75 o)
ns. (@) 5
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! ial of degree 218 called: . | I
g ?\2??1?521?221yn0n§1[ (B) Quadratic polynomial |
£ y - <

of these
(C) Zero polynomial (D) None e

Ans. (B)Quadratic polynomial e -
Snls'i i’s. lflgadmtic ecl;uation al+bx+c=0(a # 0) has two distinct real roots if:

(A)D=0 (B)D <0 (O (D) None of these
Ans. (A)D=0 o i
Q.14. The common difference of the A.P. 3,56,7,9 v 8 A
(A)-2 (B)2 ©3 (D) None of thege ~ *
Ans. (B)2 X :
Q.15. Middle point A(x,, y,) and B(x,, y,) 1s: 9 ' A
{ 3
78 2nssy Phari X AT
(A) ( o } ®) @ a2k |
Ntx Nt }": \ 2
(C) 3 5 0 ) None of these i
Ans. (A) 6 . -A
b I
Q.16. A line cutting the circle a \ rent points 1s called: 3
(A) Chord (%ant (©) Tangent (D) None of these
Ans. (B) X ‘ 3 Ar
Q.17. Areaofa circl@dius r’is: .
(A) Q B)m (C) 2nr (D) None of these
Ans. (D) : ' ' : 5'
Q.18. 1 e following can not be the probability of an event? \n
3 3 S |
AY = B) © ——= ) =
( | (B) 5 (©) 5 (D) 5
\n
Ans. (C) :
Q.19. The value of cos (90 — 8) is:
(A) cos 6 (B) cos 6 (C)cos® (D) None of these
Ans. (D) None of these =
Q.20. Mean value of 7, 5, 9 is:
(A)S (B) 7 ©) 9 (D) None of these 1~
Ans. (B)7 : S
N The H.CF. of 5and 2 is : 2t
(A)2 : (B) 5 (©) 10 55 (D)1 A
Ans. (D)1 eins
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ns.

A polynomial of degree | is called:
(B) Quadratic polynomial

(A) Lincar polynomial
(D) None of these

(C) Zero polynomial
(A) Linear polynomial
A quadratic equation ax?*+ bx + ¢ = 0 (a# 0) has two equal roots if:

(A)D =0 (B)D >0 (C)D<0 (D) None of these
(A)D =190

The common difference of the A.P. 2, 4, 6, 8, 10 ............. is

(A) -2 (B) 4 (€)2 (D) None of these
(C) 2

The distance of the point A(x,, y,) from the origin O(0, 0) is

&
WE+E  ® -y O %’&s
. N

A line which cuts the circle at only one point is callcd:o\p

(A) Chord (B) Tangent (C) Scc@ (D) None of these
(B) Tangent J

Circumference of a circle with radius 7’ is:

(A)mr? (B) nr? &r (D) None of these
(C) 27

Which of the following can not bc&robabimy of an event?

2 3
(A) 3 (B) —-& (C) 15% (D) 0.2

3
(B) 5 0
The value of‘sin@s:
(A) sin 0 | (B) cos 0 (C) tan 0 (D) None of these

(B) cos 0
The mean of the grouped data can be determined by direct method as:
> X/ (x) 4 Zx, | 21X
(A) 5fx, (B) X, (C) 50 (D) None of these
e 2 fi%,
)83 7
The prime factors of 39 are:
(A) 3, 11 (B) 3_, 13 (€)9, 13 (D) None of these

(B) 3, 13
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* A polynomiz‘ll of degree- 3 is called: e

(A) Quadratic polynomial

e : (D) None of these

(C) Linear polynomial
Ans. (D) None of these
* A gquadratic equation ac+ bx+c=0@=0) has two non-real roots is:

(A)D =0 (B)D <0 (C)D>0 (D) None of thes,
Ans. (A)D=0
y The common difference of the AP. 1, 3,3, 7/ arnrerrcet is ‘

(A) 2 (B)-2 (©)0 (D) None of these
Ans. (A)2 6
* A (-4, 5) lies in: N

(A) st quadrant (B) 3rd quadrant (C) 4th %n (D) None of these
Ans. (D) None of these \
x A tangent to a circle intersects it in;

(A) No point (B) One point &Two points (D) None of these
Ans. (B) One point 0 '
: Area of a circle of radius 2 cm is:

Wiz By (©4# (D) None of thes
Ans. (C)4r é' -
& tan A is not defined,atg

(A)45° )30° (C) 90° - (D) 0° |
Ans. (C)90° & ’
' Define C tric circles. ‘
Ans. Co C&Clrclcs are circles with a common centre. :
* % 0, write (P(A) /P(Not A).
Ans.
> Length of an arc of a circle with radius r and angle with degree measure 0 S ... [

the blank) :

. T
Ans. Length ofarc = 0 X[lSO"J x r {9 = Degree Measure}

& Class mark is always equal to:

(A) Upper classmark — Lower classmark |
2 !

i Upper classmark + Lower classmark !
2
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W TR -‘e._-l-_. T e e
—
.

o
.

T T AT T

(c) Upper classmark * Lower classmark
2

(D) None of these

Upper classmark+Lower classmark

Ans. (B) =
* LCM of 6 and 20 is ............. .(20, 60)
* [f angle between two tangents drawn from a point P to a circle of radius « and centre O is 907,
then OP = ;./2 . (True/False)
| & The 6th term of the AP. 5, 8, 11, 14, ._........... is 21. (True/False)
Or &a
The sum of all natural numbers from 1 to 100 is 5050. (True/Fals
| &2 If A ABC is right angled at C, then the value of cos (A + B) iv rue/False)
)

Any two ............. triangles are similar. (Isosceles/Equila%l'
HCF of 6 and 20 is ............ . (2, 6) Q
[f angle between two tangents drawn from a poinE P@ ircle of radius a and centre O is 60°,

then OP = ,./3. (True/False)

If the first term of an A.P. is -5 and the B;%Qﬁﬂ”ercncc 1s 2, then the 10th term is —13.

(True/False)
The sum of first 10 odd natural n

1S 18 100. (True/False)
/False)

Alllcircles are ST (E ent/Similar)

HCF of 42 and 63 is ... %W (42 21)

If angle between wof a circle is 130°, then angle between the tangents at the ends of the

sin O = cos 9 for all values of

radii is 50°. (Tru

The next term of the A.P. \/27, 48, J75 ..., is V106 . (True/False)

The sum of first 3 terms of the A.P. whose nth term is given by a =2n + 1 is 15. (True/False)
sin’ 6 + cos” O = 1 for all values of 6. (True/False)

Any two ............. are similar. (Triangles/Rectangles)
LCM (a, b) * HCF (a, b) = .............. (axb/a+b)
axb '
x =1, y =2 is the solution of the pair of lincar cquation x + 2y =3 and x + y =3 ...
(Yes/No)
No
Q =g+ (n+l)dis the genéral term of an AP ............ (True/False)
False
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- is given by S¢ = ¢/2 [2a + (6~ 1)d] ...... ]
+  Sum of first ‘¢’ term of an AP IS &I (T,
Sol. True. . i ~
* sin 6 = cos 0 for all values of 0 (True/False)
A
Sol.  False. _ : : :
. Al triangles are similar (Isosceles/Equilateral) 3
Sol.  Equilateral ::
* L.CM (a, b)= (Fill in the blank) ;9;
Ans. HCF (a, b) A
: x =1,y =3 is the solution of x + 2y =7 and 2x + y = 5 (Tme@lse) 4
Ans. True && A
: *
* S. = —;z[a-f- (n—=1)d] is the sum to n terms of a@@des. (True/ False) :
Ans. False X -2
x 30th term of the A.P 10, 7. 4 .. 1S 77 the blank) *
Ans. False ¢
* sin® = cos@ for all values of§ . 'IéFalse) A
Ans. False k
x AllTE SRR S triangles a@r (1sosceles/equilateral) (Choose correct word) '
Ans. Equilateral : :
A\ |
* HCF 3 b) = =5 X Fill i oy :
U= = N T2.0) (Fill in the blank)
(axb) ;
Ans. I.C ( |
& X:= ls 5 is the solution of x + y=6and2x +y=7 (True/ False) i
Ans. True __
5 @, = at(n—1)d is the nth terms of an A P, Series. (True/False)
Ans. True
2 : )
* Ifa =4n+1, then as 1s equal to 23. (Fill in the blank) ).2
Ans. False _
* Sin’6 —cos2 6 = | (True/False) :
Ans. False L2
i All circles are o R ' 12,
............... 0 s ; ;
Ans.  Similar (congruent/similar) (Fill in the blank using correct word if btﬁ!-'z‘
* .
\,6 IS aneiinn number. (Fill in the blank)
Ans. irrational
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For unique solution in @ x + b,y = ciand ax + by = c, if "E;_ ‘ti". (True/ False)
True
Ifa = 5n+ 2. find a,. (True/ False)
False
What is the 10th term of the A.P. : 2, 7, 12. ............ ?
47
The value of cos 8 increases as 0 increases. (True/False)
False
(similar/congruent). (Choose correct word)

All squares are ............
similar

Define Collinear points. %

Write a formula for finding the distance between two points A(x & B(x,, ¥,)-

What is the line of sight?
State AA similarity criterion for two triangles.

Define x-coordinate of a point.
Write a formula for finding the coordinates of the pe& y) which divides the ]Jine segment
joining the points A(x,, y,) and B(x,, ¥,), imemall@ eratiom, : m,.

What is the angle of depression?
State SAS similarity criterion for two tnan

If P(E) = 0.5, what is the probabiiity g&

If r =1 unit, find the volume of sph

Define y-coordinate of a pomts
Write a formula for finding th f a AABC with coordinates of the vertices as A(x , y,).

B(x,, y,), C(x;

What is the angle of ele?
State SSS similarity ¢ for two triangles.
e probability of ‘not E’?

If P(E) = 0.05,
urved surface arca of hemisphere in terms of .

Ifr=2cmth
SECTION - B
(6 Q x 2 M =12 Marks)

. Solve by substitution method

\/5;+\[3;=Oandx/§;—@ =0

Find discriminant of the-quadratic equation 2x*~4x+3=0 and hence nature of roots

. Given 15 cot A =8, find sec A.
. Find volume of hemispher of radius 2 cm.

Or

Calculate volume of cylinder of radius 1 cm and height 1 cm.
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GARE idist rom (2, =5) and (-2, ¢
s the point of the x-axis which is equidistant from ( ) and (-2, 9),
.25. Find the pon Or

2, 3) and (=2, 11) are collinear.

. [ . " 2 l S)
Determine if the points (1, S
.26, The sum and product of zeros of quadratic polynomial x=- e’
¢  Find the H.C.F. of 26 and 1.

2 are joined end to end. Find the surface area of the :
Iig

. 2 cubes each of volume 64cm’
cuboid.

5 Solve the pair of equations by the substitution method:
XETSVE=
x—-y=4

3
= Ifsin A= 2 calculate cos A and tan A. &
i N4 :

| — tan® 45°

Find the value of T+ tan’45° \

* A die is thrown once. Find the probability ng: (i) a prime number (i) an odd nunp

* The following table gives the literacy 1 percentage) of 35 cities. Find the mean litey ﬂ
rate: 3
Literacy rate in % 45-5 @ 65-75  75-85 85-95
Number of Cities 8 3

¥ Express 140 as a prodﬁ its prime factors.

* A drinking glass is @hnpc of a frustum of a cone and height 14 cm. The diameter of 1[9:
circular ends ? and 2 cm. Find the capacity of the glass. : C

% Express 156@ roduct of its prime factors. :

% A solidlin hape of a cone standing on a hemisphere with both their radii being equaltol:
and ght of the cone is equal to its radius. Find the volume of the solid in terms of .

: Find H.C.F. and L.C.M of 26 and 91 using prime factorisation. i C

H

A toy is in the form of a cone of radius 3.5 ¢m mounted on a hemisphere of same radms«*
total height of the toy is 15.5 em. Find the total surface area of the toy.

* Cubed cach of volume 64 cm’ are joined end to end. Find the surface area of the st Q
Cuboid. :

* Given that HCF (306, 657) = 9, find LCM (306, 657). &

L/ A cubical block of side 7 ¢em is surmounted by a hemisphere. What is the greatest dlamff“
hemisphere can have? - Q

% Find the H.C.F. of 6, 72 and 120 using prime factorisation method. ‘ Q
: 2tan45°

s Find the values of ——'—5-

: 92
[+tan>45° °
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| Q.29.

| Q.30.

Q.27.

Q.28.

| Q3.

FQ.32.
Q.33

Evaluate sin 25°cos 65° + cos 25” sin 65°

One A die is thrown Once. Find the probability of getting *an odd number’.

The marks obtained by 30 student of class ‘X’ of a certain school in a Mathematics paper
consisting of 100 marks are presented in table below. Find the mean of the marks obtained by

the students.
Marks Obtained (x) 10 20003604000 500 56 G0 ANT0 S 24 8 % 0 A0S

Number of Students ( /) | ey h it 3nEad e 3 208 T4 SR A NS | ] S D 3 S |

2 cubes each of volume 64 cm® are joined end to end. Find the surface area of the resulting

cuboid.
Find the H.C.F. of 96 and 404 by the prime factorisation method.
Find whether the pair of linear equations are consistent or inconsistent:

2x-3y =28
4.:‘ - J6y =9 &
Find the value of M V\Q

1+ tan’ 3_00

: tan 65°
Find the value of .

cot 25° 0

One card i1s drawn from a well shuffled deck léards. Calculate the probability that the card
will (i) be an ace  (ii) not be an ace. &

sa@ona-c

(8.0% 3 M = 24 Marks)

)
If A and B are (-2, 2) an@spectivcly, find the coordintes of P such that AP = ; AB and

P lies on the line se% :
Find the area of fhe"€s¥or of a circle with radius 4 cm and angle 30°. Also find the are aof the
corresponding sector.
Prove that the tangent drawn at the ends of a diameter of a circle are parallel.
Or
Prove that the lengths of tangents drawn from an external paint to a circle are equal.
Prove that if a line divides any two sides of a triangle in the same ratio, then the line is parallel to
the third side.

D is a point on the side BC of a triangle ABC such that /4D = ZBAC . Show that CA? =
CB.CD.

Prove that 3+2 /5 is irrational.

The 17th term of an AP exceeds it 10th term by 7. Find the common diffference.
Or
Find the sum of first 22 terms of an AP in which d = 7 and 22th terms is 149




36

NARENDERA * DAWN Guess Papey 2024

Q.34. Adieis thro

. N
ability of getting

whn once. Find the prob :

(a) a prime number . *

e s "tWCCn 2 ﬂﬂd 6 1

(b) 2 number lying be S et :
7 = mial 3x2 — x — 4 and verify the relationgp;

Find the zeroes of the quadratic polyno ip betWEen & *

zeroes and the coefficients. -
£ a frustum of a cone of height 14 cm the diamete

inkKi 1s i ape O
A drinking glass is in the shap : _
circular end:; are 4 cm and 2 cm. F -nd the capacity of the glass.
-k will be three times that of his son. Five years 5 ‘ ;
Five years hence, the age of Jacob will b y oy .

i S ?
was seven times that of his son. What are their present age: |
Find the roots of the quadratic equation 2x* — 7x + 3 = 0 by applying th_e‘ qua feae g

SRR -

How many multiples of 4 lie between 10 and 250

of an A.P. whose second and thi s are 14 and 18 respecyy
i

.

Find the sum of first 51 terms

1+secA sin® A \0

Prove the identity: ~ oA T | _cos A

The length of a tangent from a point A at dista&n from the centre of the circle is4 ¢ i %

the radius of the circle.
Two tangents TP and TQ are drawn to&e with centre O from an external point T, pry;,

that: *
£ PTQ = 2£0PQ @’1\0 :

*

Prove that the tangents draw e ends of a diameter of a circle are parallel.

A 20 m deep well with\‘%cter 7 m is dug and the earth from digging is evenly spread outt

form a platform 22 m. Find the height of the platform.

Find the zero’s dratic polynomial and verify the relationship between the zero's and Q.
coefficient 494 + 1 '
Divide Sx — 3 by x*— 2 and find the quotient and the remainder.

Solv ¢ of linear equation by substistution method. Q.
Xt 4 ':'
x—y=4 _
Find the value of K, so that the quadratic equation have two equal roots 2x* + kx +3= 0.
Which term of an AP: 3, 8, 13, 18 ............ is 782 Q.

Find the sum of the first 15 multiplies of 8.

sin® 63°+sin®27°

Evaluate _
cos?17°+cos? 73°
Prove that the tangents drawn at the ends of a diameter of a circle are parallel.
Prove that the [lgm circumscribing a circle is a rhombus. f
A

Find the area of a sector of a circle with radius 6 em if angle of the sector is 60%
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038,

>

A drinking glass is in the shape of a frustum of a cone of height 14 ¢cm the diameter of its two
circular ends are 4 cm and 2 cm. Find the capacity of the glass.

Find the zeroes of the quadratic polynomial x>+ 7x + 10 and verify the relationship between
zeroes and the coefficients. '

Divide 2x* + 3x + | by x + 2 and find the quotient and the remainder.

Solve the pair of linear equations by substitution method

Tx— 15y =2

XHDP=3

How many terms of the A.P. 24, 21, 18, ........... must be taken so that their sum is 78.

Find the sum of the_ odd nu'mlbers between 0 and 50. | e
cos A 1+sin 4 :
=2sec A _ \0&

Prove the identity: G

2/ l+sinAd  cos 4 ?
Prove that 0pp051te sides of a quadrilateral c;rcumscrlbm& e subtend supplementary angles
at the centre of thecircle.

‘Prove that the parallelogram circumscribing a ¢ a rhombus
bcm and of angle 300. Also the area of the

Find the area of the sector of a circle with ra
corresponding major sector (using 7 = 3.

iﬁf%
(6 M =24 Marks)

Is it possible to design a rect ar mango grove whose length is twice its breadth, and area is
800 m*? If so, find its lc@nd breadth.
Or
Find two consect e@[tivc integers, the sum of whos esquares is 365.
A cubical block e 7 em is surmounted by a hemisphere. What is the greatest diameter the
hemisphere can have? Find the surface area of'the solid.

Oz
A solid 1s in the shape of a cone standing on a hemisphere with both their radii being equal to 1
cm and the height of the cone is equal (o its radius. Find the volume in terms of .
From the top ofa 7 m high building, the angle of eleveation of the top of a cable tower is 60° and
the angle of depression of its foot is 45°. Determine the height of the tower.

1
ﬁ ;0°<A+B < 90° A> B, find A and B,

If tan(A+B) = \/5 and tan(A-B) =
f .

Or

v1+sin 4

Prove the id.entity-——,— =sec A+ tan A
1-sin 4
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‘ ionality theorem:
Q.39. State and prove Basic Proport1o y = :

= ey — 04
BCD intersect each other at the point O such that ?2 ‘Cg

The diagonls of a quadrilmera] A G

Show that ABCD is 2 trapezium.

gives the weights of 3 students of a class. Find the median wejgy .
b

Q.40. The distribution below |
students. 0% o

<o (i 5 -5 0-55 55-60 70 e

Weigh (in kg) 40-45 45-50 3 : - 0273

6
No. of students 2 3 8 . :
, sum of whose squares 18 365.

* Find two consecutive positive integers
* Find the value of ‘K for which the quadratlc equation 36 *& = Wl €qual rooy §
of a tower from a pomt 0 ound, which is 30m away iy ,

& The angle of elevation of the top

the foot of the tower, is 30°. Find the height of the
X If (1, 2), (4, y) (x, 6) and (3, 5) are the vertlces elogram taken in order, find xan d

g Find the area of the triangle whose yertices 1) (3, —=5) and (5, 2)
* In a right triangle, the square of the hypgt is equal to the sum of the Squares of the ofyx

two sides. Prove it.
CD with AB || DC intersect each other at the poin

% Diagonals AC and BD of a tra e
Using a similarity criterion fé angles, show that:

OA OBQ
oC ~ 0D \

* Find the pomt n xis which is equidistant from the points A (6, 5) and B (- 4, 3).
. The distributia; ' gives the weight of 30 students of a class. Find the median weight of i

students
e@ﬁn Kg) * No. of Students
40-45 2
45-50 3]
50-55 8
55-60 6
60-65 6
65-70 3
70-75 2
. Find two numbers whose sum is 27 and product is 182.
. The angle of elevation of the top of a tower froma point on the ground which is 30 m awayﬁti

the foot of tower is 30°. Find the hejght of the fower.
v Find the points on the x-axis which is equidistant from (2, —5) and (-2, 9).
x Find the ratio in which the line segment joining the points (-3, 10) and (6, —8) is d'“‘kdh
(-1, 6).
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Prove that the ratio of the area of two similar As is equal to the square of the ratio of their
corresponding sides.

ABC is an isosceles A right angled at C. Prove that AB* = 2AC.

The distribution below gives the weight of 3 students of a class. Find the median weight of the

students.
Weight (in k) 4045 45-50 5035 55460

No. of students 2 3 8 6 6 3 2

The difference of squares of two numbers is 180. The square of the smaller number is 8 times

60-65 65-70 70-75

the larger number. Find the two numbers.

From the top ot a 7 m high building, the angle of elevation of the top of a cable tower is 60° and
angle of depression of the foot s 45°. Determine the height of the tow

Find the point on the Y-axis which is equidistant from the points A 6Q dB(—4,3).

Find the value of k if the points A(2, 3), B(4, &) and C(6,-3) are ar.

In a right angled triangle, the square of the hypotenuse is equ
other two sides. Prove it. \
A survey conducted on 20 houscholds in a locality by of students resulted in the following

frequency table for the number of family membe ousehold.

Family Size e s 0; 7-9 9-11
Number of Families 7 @' 2 2 1

Find the mode of this data. *

\ Lot
@é\&

1e sum of the square of the



